Annex: Life cycle assessment and life cycle cost analysis of repair
for the service life extension of a concrete silo
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1 GRAPHS MIDPOINT INDICATORS

Cumulative impact - Global warming [kg CO2 eq]
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0.250 Cumulative impact - Stratospheric ozone depletion [kg CFC11 eq]
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Cumulative impact - Ionizing radiation [kBq Co-60 eq]
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Cumulative impact - Ozone formation, Human health [kg NOx eq]
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900 Cumulative impact - Fine particulate matter formation [kg PM2.5 eq]
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Cumulative impact - Ozone formation, Terrestrial ecosystems [kg NOx eq]
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Cumulative impact - Terrestrial acidification [kg SO2 eq]
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Cumulative impact - Freshwater eutrophication [kg P eq]
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Cumulative impact - Marine eutrophication [kg N eq]
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Cumulative impact - Terrestrial ecotoxicity [kg 1,4-DCB]
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Cumulative impact - Freshwater ecotoxicity [kg 1,4-DCB]
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300,000 Cumulative impact - Marine ecotoxicity [kg 1,4-DCB]
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350.000 Cumulative impact - Human carcinogenic toxicity [kg 1,4-DCB]
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9.000.000 Cumulative impact - Human non-carcinogenic toxicity [kg 1,4-DCB]
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45,000 Cumulative impact - Land use [m2a crop eq]
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15,000 Cumulative impact - Mineral resource scarcity [kg Cu eq]
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550.000 Cumulative impact - Fossil resource scarcity [kg oil eq]
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40,000 Cumulative impact - Water consumption [m3]
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